Unit 3 Exam Review

Remember:
· Number systems: Rational , irrational, integers, whole, natural numbers.
· Common denominators are needed to when adding or subtracting rational numbers.
· When dividing fractions take the reciprocal of the fraction then multiply.

Multiple Choice
____
1.
Which numbers are rational numbers?
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	c.
	All of them

	b.
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2.
Identify the number that is NOT equal to the other three numbers.
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3.
Which rational number is represented by the letter A on the number line?
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	a.
	–0.5
	c.
	–5

	b.
	–0.8
	d.
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4.
Which expression has the same sum as [image: image19.png]
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	a.
	 i
	b.
	iv
	c.
	iii
	d.
	ii


____
5.
Determine this difference.
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6.
Which expression has the same answer as [image: image29.png]
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	a.
	ii
	b.
	i
	c.
	iv
	d.
	iii
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7.
Which expressions have the same answer as [image: image34.emf]1
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(5) ?
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iv)
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	a.
	iii and iv
	b.
	ii and iv
	c.
	i and ii
	d.
	i and iii


____
8.
Determine this product.
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____
9.
Determine this quotient.
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10.
Determine this quotient.
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11.
Evaluate.
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12.
Evaluate.
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13.
Evaluate.
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Short Answer

14.
Order these numbers from greatest to least. 
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15.
Determine this difference.
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16.
Determine this quotient.
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17.
Evaluate.
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18.
Evaluate.
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Evaluate: [image: image82.png]



Problem

20.
Melissa earns $45.25 working in a coffee shop, and $18.25 for babysitting. 

She spends $31.64 on art supplies and $15.48 on a computer game.

a)
Write an addition statement to represent Melissa’s income and expenditure.

b)
How much money does Melissa have left?

21.
Evaluate this expression. Show your work.
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22.
A fishing resort has 21 cabins, all of which need to be repainted. 

The average cost of painting a cabin is $490.47. 

a)
Write a multiplication statement with rational numbers to determine the cost of painting the cabins.

b)
The resort has a budget of $10 524.00. 


How much money will be left in the budget after all the cabins are painted?

23.
Evaluate. Show your work.
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Answer Section
MULTIPLE CHOICE

1.
C


2.
B


3.
D


4.
D


5.
A


6.
D


7.
A


8.
C


9.
C
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B


11.
C


12.
C


13.
B


SHORT ANSWER

14.
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PROBLEM

20.
a)
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b)
Melissa has $16.38 left.

21.
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22.
a)
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b)
$10 524.00 – $10 299.87 = $224.13

23.
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